: 2018 (A) 2 g;? Ay

SSC PART- (9th CLASS)
GENERAL MATHEMATICS GROUP-| b - o) Sy
TIME ALLOWED: 2.10 Hours SUBJECTIVE P~ £a10 = &
MAXIMUM MARKS: 60 60 = Af
NOTE: - Write same question number _q_@;:uié_g,girﬂ"é (’/JJ/',%:ZJ}’/',}(JI)’UF‘}{QE’Q]!? oY
and its part number on answer book, as given in the question paper.
SECTION-l s.»
2. Attempt any six parts. 12=2x6 ey /h.,uyiwc.d[ 24y
()  Express 1.26 as percentage. é Zf 94 J{’Jm}f 126 (i)

(i) If % of the students in a school have been away ?é.gﬁ.;@:uim?uﬂa;d; = ANy J o A i

for a holiday. How many students in every hundred were on holiday?

(i) Define Ratio. Eafled i)
(iv)  Define Nisab of Zakat. S W)
(v)  Calculate the amount of Zakat on an amount of Rs.500,000. e n 500000 (1
(vi)  Define Profit ESAE i

(vii) A Bicycle was purchased for Rs.3450 -;ﬁ_’:}wdc’”' AVessfste s 3850 s\l Ate s 3450&@4 (vil)
and sold for Rs.3850. Find profit percentage. .

(viil) A book is sold for Rs.650 at a profit of 30 %. -g"::(r:i"’};j'.:«gd/.,«al -{d}@@.u 6504dw{3 30 AL (vill
Find cost price.

(ix)  Define On-line Banking. 5 J/’Jﬂzi T (i)

3. Attempt any six parts. 12=2x6 ixfutlillilgc,d/ w3/'Ufy

()  Convert Rs.5,00,000 into Euro &1 112.4088 = o f| A ek ,yfa_udw | 5,00,000 (i)
if 1 Euro = Rs.112.4088

(i)  Define Excise Duty. 5 »..»I/J S i)

(i) Acomputer price is Seed Al -LJM)’ 16% U7 -cen 34800 2 (Adll (il
Rs.34800 inclusive of 16 % sales tax. What is the original price of the computer?

(iv)  Write 50,00,000 in scientific notation. -40 ut'ﬁ 75" W 50,00,000  (iv)

(v) If logx=0.1597 thenfind x éfp“’JJ x Jn logx = 0.1597 ﬁ (v)

(i)  Solve, log243 log243 S F (v

log9 log9
(vii)  Define Infinite Sequence, E P e il
; | "

(i) Find firt two terms of a, = 2"~ — vl a = (vi)

(x)  Find GM between 9 and 5. Sl Agenl 549 (i)

4. Attempt any six parts. 12=2x6 S ling e 44y

() Define Universal Set. Eaflerds ()

(i)  Define Complement of Set. s Ler (i)

(:’.d.f JJ:)




(i)

(2) .

|f8:{4,6,8,9}8nd _,u:/(rjh"BUC;ﬂC={3,4,5,7}JJJ82{476:879}/’F ('I”)
C={34.57} thenfnd BUC

Using formula convert 20°C into®F AL OF £ 2000 LaZ Sk (v
Represent the point D (4, 4) on graph paper. ..uj/;lég_.ﬁ\..ii/;f D(4,4) 5 (v
What is Ordered Pairs? itz (i)
Define Mode. A (i
Define Geometric Mean. YA /UJwiQ £ (Vi)
Find the Mode for the given data 6, 2, 4, 3, 4, 5,4, 5. P 62,434,545 2 (Y

SECTION-I {2

NOTE: - Attempt any three questions.  24=8x3 -gz’}fagméwwfa.éf b

5.(A)

(B)

9.(A)

Sixmen can paintahousein L b ,ézd,afﬂ/ I b A§ J(fn/ﬁl ..UT.:E):I'/JU: u;‘ugﬁiﬂdﬁ 6 (.5
four days. How Iong it would take to paznt the house if three men are employed’P

53040 5000 =BG Grba ey 40,000 AL Bg et fsiie ] 40w 10 (L)
Calculate the amount of Zakat on 10 tola gold and 40 tola silver, if the rate of gold is Rs.40000 per tola
and the rate of silver is Rs.5000 per tola.

Distrbute Rs.200,000 s a prof 213:2:5 e LUPLYNECTEL 0 200000 /B ()6
among three persons. If their shares are in the ratio 3.2 5.

U Py f LOLLEELfale 53% LuB00LE ()
Waseem invest Rs.5000 at compound profit rate 5%% per annum.
Find the amount at the end of third year.

..“épbfﬁ)‘f@é' Sy 50 213 18 % LSS L3500 LG ()T

The price of a bicycle is Rs.3500. If 16 % sales tax is charged, then calculate the amount of
sales tax on 50 such bicycles, )
Solve with the help of logarithm table. sl Sl A (L)
I three A Ms between Ee b ua bl 130 95 glnl b sa san/l ()-8
a and b ared 9and13thenfind a and & .

B={2,3,579} o U={12,34-—-—12}¢ 4={2,3,467.8910} [ ()

(4UB) = 4aNBC f1)artd

F4=1{2.3467,8910}, U={1,234---—12}and B={23579}
then prove that (4 U B) = 4“NBC
Draw the graph of ¥ =x -1 -gdl)? y=x-1 (.9
Find the standard deviation for the values -gi:pb”_jﬁfd)'ly.f_.ﬁ 1,234,681 s ()
1,2 3, 4, 6 8 11

33-2018(A)-10000  (MULTAN)



2018 (A) a1

SSC PART- (9th CLASS) o
GENERAL MATHEMATICS GROUP-I -t Sl
TIME ALLOWED: 210  Hours SUBJECTIVE (L~ £ =
MAXIMUM MARKS: 60 60 = Af
NOTE: - Write same question number -a,f,»J‘z_/,Jlr'J?c{ b /sm/leuydo 2 .

and its part number on answer hook, as given in the question paper.
SECTION-l (i.o

2. Attempt any six parts. 12=2x6 -égfagfﬂaﬁ'ﬂggat}f 240

. 12 28 L 12 28 -

() Express —-:75 inits simplest form. B 010 0

(i) Increase 40 books i the ratio 5 : 4 AT 40 Ledf 54 i)
What would be the number of increased books?

(i)~ Whatis meant by Compound Proportion? ?f-ﬂ/gc»/@-,—rff (i)

(iv)  Whatis meant by Zakat? “;.;Wc,ay'ﬁ (v)

(v} What is meant by Inheritance? S Sty (V)

(vi)  Distribute a business profit of M35:3 wu"u:‘*’iu'ﬁifa LSEIL &.u 33000 JAwbLl (Vi)
Rs.33000 among three persons if their shares are in the ratio 3: 5 ; 3.

(vii)  Find the selling price when MP = 395,75, 30575 = edudln « 8% = oA Lpenied (i)
discount = 8 %, ‘ o

(vili)  If a television is purchased for Rs.6590 &P IS ssp g 6850 S A e v 6590 Ui i)
and sold for Rs.6850. Find the profit percentage.

(ix)  Whatis meant by Commercial Banking? "c_ﬂ/bc'-u@*nf / (ix)

3 Attempt any six parts. 12=2x6 i//utb’ilf iz c—df -3/ J’f
If the simple profit on Rs.640 for & »,woo/g O ded 1 384 Bk v 12 444640 A
12 years is Rs.384. Find the rate of profit percentage. ;
Define Direct Tax S e (i)
The annual income of a flat is -arﬂrfdmumw 6% -¢-¢u 14,00,000 wuTalvbeddl (i
Rs.14,00,000. Find the payable property tax at a rate of 16 %. )
Write in scientific notation 2566324, ~s:‘fg A A 2566324 (i)
Convert logglg =-2  into exponential form. -u, Jf/w’:( IoE, —==) (V)
If logx =0.1597 then find the value of x -.{.}:1?}“;«5;,( x Jn logx=0.1597 ﬁ (vi)
Find the first three terms of a, = n + 3 ,g:(ph”(%f ﬁ‘fu{’ a4, =n+3 (vil)
Find A.M. between 4 and 8. S (AM) bl 4 418 (vil)

f a=5,4a, =61 and n=15 ,‘_L’Kr;l-‘*‘.;;fJ d 4,[.A,P, o n=15 p g =61 ca=5/ (1x)
thenfind o forAP
(Z“.Lj..l JJ})




(2)

4. Attempt any six parts. 12=2x6 éf//’uu:’[.iifﬁa.df -4/Jlr
()  Define Universal Set. éw/deﬁxi (i)
(i) IfA={2.3.45}and E B B-akB={2468} #d={2345}1 i
B=1{2.4,6.8} thenfind B—4, 4-B
(iii)  Write De-Morgan Laws. _d{;’ 3! (i)
(iv)  Convert 20°C to ©F SESat OF f 20% (i)
(v)  Draw the point 4(3, —2) on graph paper. ..i /;LLI{. 4:@_,‘%);( A(3,-2) & (v)
(vi)  Define Abscissa. -zi' ) /’J Lt (Vi)
(vii)  Find the range of the data 10, 8, 9, 6, 22 i/'WJ‘J 10, 8, 9, 6, 22 (vil)
(viil)  Findthe mode of 6, 2, 4, 3, 4, 5, 4, 5 -a.n%we 2, 4,3 4 5 4 5 (v
(ix)  Write two properties of arithmetic mean. -u:”ﬁ..,u#’uﬁxsldu (i)

SECTIONI (11,2

NOTE: - Attempt any three questions.  24=8x3 -;é;f:..@lg&,uwf;df b

5.(A)

7.(A)

The price of 15 suitsis Rs 6750, St s e 2 £ughs 4050 Fuens 6750 2 funiz 15 L (s
How many such suits can be purchased by an amount of Rs.40507

Pl fre it 2000000 Frdind e i s i LS LA (L)
The inherited property amounting to Rs.ZO,b0,000 is left by a deceased. He left behind a wzdow and
two sons. Workout the share of each.

Distribute Rs 200000 as aprofitina - 3:2:5 eAtur LI TE 1 200000 LSEE ()8
business regarding three persons, if their shares are in thg ratin3:2.5.

Find the compound profit on Rs.54000for A Bbisle L A0l 12% Lkl v 54000 (L)
one year at the rate of 12 % per annum.

EP Kb 30 29 BRe U 18% (BB e 4000 SBSGAL (T
The price of a tricycle is Rs.4000. If 16 % sales tax is charged, then calculate the amount of sales tax
on 30 such tricycles.

Solve with the help of logarithm table. w -éd’c_uwwf.f)? (el
I 8 and 12 are two A.Ms between S b adusba@n 12 48yl b A a A ()-8

a and » . Find @aand b .
C={2,3,5} # B={1L17,19,23} « 4={L7,1,1517,21} S ()
(ANBNC = ANBNC) SZEekin
If 4=1{1,7,11,1517,21}, B={11,17,19,23 } and Cc={23,5}
then verify that (ANB)NC = AN(BNCO)

Draw the graph of an equation y = x + 7 -?K I p=xed sbl (e
Find the variance for the values 1, 2, 3, 4, 6, 8, 11. _“'4{1'#”:/,/:"7.;1_1 1,2 3, 4,6 8 11 iy (H_,)

35-2018(A)-17000 (MULTAN)
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PAPER CODE 2018 (A) 2@@ A

' -
NUMBER: 1261 SSC PART-I (9th CLASS)
GENERAL MATHEMATICS GROUP-| ‘- ,/ Sl
TIME ALLOWED: 20 Minutes OBJECTIVE 033/’..0 20 =
MAXIMUM MARKS 15 5= AF
Ao o L MOl e Ui s bl s 3602 i LS 1 D sl C B A a2l v ey
R _b:_.L?_L.-‘u«-'/.'ur'J--:-— .,J.._J "~...: :': ~E¥is r“bb....'i" z:Cuu-...'JJ"u_./ Jo¥ L& J/:(J JFJnLJh..f -

Note: You have four choices for each objective type question as A, B, C and D. The choice ..V_JCIJ’/C:; Uly~
which you think is correct, fill that bubble in front of that quesfion number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as
many gquestions as given in objective type question paper and leave others blank. No credit will be awarded

in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER,

Q.No.1 A Ay

(1) 20 % of 600 is:- = 20% ¥ 600 (1)
(A) 12 (B) 120 (C) 20 (D) 200

(2) Lowest formof 75: 95 is:- <y J,UL«IJ 75:95 (2)
(A) 1517 (B) 17 : 15 (C)19: 15 (D)15: 19

(3) Zakat deducted on an amount of Rs.1,00,000 is:- --__;CE}@,?}(J,;%,” 1,00,000 (3)
(A) Rs.2500 (B) Rs.25000 (C) Rs.2000 (D) Rs.15000

(4) On a crop produced on Natural resources, Ushr is deducted at the rate of:- _g_c,ﬁu’%;u“’f&;}s’;éus&,j (4)
(A) 25 % (B) 5% (C) 10% (D) 20 %

(5) Loss is there when:- _:/ﬁgmuuﬁ (5)
(A) SP = CP (B)SP < CP (A) e3jed = 4ied  (B)esjed <uied
(C) SP>CP (D)SP= MP (C)essfed > yied (D) wifed = odfuyes

(6) An instrument for payment order issued by a bank el fxi,‘fd.at,»{.:xl.é;{}/..{.’ﬁ..E_z&.:.:»s/’ﬁfs’ VAL (8)

on the request of its customer is called:-
(A) Pay order J-S;Ta?. (B) Cheque Book ..{.,_6, (C) Deposit slip J—J /] ¥ ﬁ ) Current account ..fn’ 7

(7) The company undertaking act of Insurance is called:- -:_uLU =¢deZ I:UJLL, Jr*m (7)
(A) Insurance 21  (B) Insured 8 (C) Insurer I (D) Insurance policy ;J" W

(8) Taxes of the form of duties like motor vehicle taxes, are called:- oy ,.,J’ f u*f’ g, 5’4,,.» 2y (8)
(A) Indirect tax JL' "5y, (B) Direct tax u; “=~Inl; (C) Property tax u’gﬂyb (D) Income tax | H’If

(9) The tax in addiion to the price of the article s called - A as ()
(A) Tax J‘: (B) Sales tax u; ® (C) Income tax Jgﬁxl (D) Excise duty J:jiy"u: I

(10) In4% 4is called- S 4248 (10
(A) Base JU! (B) Exponent e s (C) An integer _wé" (D) Radical .4

(11) Thirdtermof @, =n +3 is- A8 a,=n+3 (1)
(A) 3 (B) 9 (C) 6 D)0

(12) AM between ¢./5 and 25 is:- bl 25 65 (12)
(A) 35 (B) 95 (C) 745 (D) 445

(13) (4NB) =7 (4NB) =2 (13)
(A) 4 NB (B) (4UB) (C) 4" UB 0 ¢

(14) For y=21in 2x— y =6 then x =" put el yon JF W= (18
(A) —4 (B) 4 (C) 2 (D) -2

(15) The middle value of the data arranged in numerical order is called:- -9de(_afd;xubﬁgﬁ;lrg;f d (15)
(A) Mode »k (B) Mean L (C) Geometric Mean Jw@/" (D) Median +le-s

33(Obj)( 7«%’)-2018(/\)-10000 (MULTAN)



PAPER CODE 2018 (A) 206, A

NUMBER: 1263 SSC PART-l (9th CLASS) F 7
GENERAL MATHEMATICS GROUP-| 7 ;,,,/’ Sz
TIME ALLOWED: 20 Minutes OBJECTIVE u_"’M o220 = &
MAXIMUM MARKS: 15 15= Af
Ao i b SN I3 QL R mrnre S &l sie L iy 36317 <1 L s D 23 © 1B A 212l vy e

cagdrt Kbl A S Sl S P e i St SE S Sk \ LS st okl s
Note: You have four choices for each objective type question as A, B, C and D. The choice -/ ):‘.J:Jf:_-,wr
which you think is correct, fill that bubble in front of that quesilon number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded

in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 A A

(1) AMbetween 645 and 25 is:- U 25 w6ds (1)
(A) 375 B) 9V5 (C) 745 (D) 445

2) (4NB) =2 (4nNB) =2 (2
(A) 4°NB° (B) (4UB) (C) A“UB' (D) ¢

(3) For y=2in 2x-y=6 then x=7? ¥=9 &, y=2 4 2x-y=6 (3)
(A) -4 (B) 4 (C) 2 D) -2

(4) The middle value of the data arranged in numerical order is called:- -‘LGLQJ/&EW&@IA;)‘K, (4)
(A) Mode sk (B) Mean b (C) Geometric Mean k-~ (D) Median .:&-s

(5) 20 % of 600 is:- -« 20% ¥ 600 (5)
(A) 12 (B) 120 (C) 20 (D) 200

(6) Lowest form of 75 : 95 is:- Sy 1595 (6
(A) 15:17 (B) 17:15 (C)19:15 (D)15:19

(7) Zakat deducted on an amount of Rs.1,00,000 is:- -JL&;rU(E;}{{__H 1,00,000 (7)
(A) Rs.2500 (B) Rs.25000 (C) Rs.2000 (D) Rs.15000

(8) On a crop produced on Natural resources, Ushr is deducted at the rate of - _g;_i,}b(/“{g)" L?i{;«igc.ébj&;ﬁ (8)
(A) 25% (B) 5% (C) 10 % (D) 20 %

(9) Loss is there when:- -:fu;_txuui? 9)
(A) SP= CP (B)S.P < CP (A) =dsped = 4ol (B)esped <uied
(C) SP>CP (D)SP= MP (C) 23sfed > pied (D) epfed = ..JC,»/....J

(10) An instrument for payment order issued by abank - 12 <! fri.fwb/....rfﬁqu f;.ﬁ-d..m/i(v }’J/.p (10)
on the request of its customer is called:-

(A) Pay order /5,7 (B) Cheque Book {2 (C) Deposit slip ..,Ldu;/ o2 ¥ (D) Current account 3§ i..//

(11) The company undertaking act of Insurance is called:- -c_dU/ (adb/c{*ﬂ‘zu ;H!fu? (11)
(A) Insurance #  (B) Insured 3. (C) Insurer . (D) Insurance policy (/3

(12) Taxes of the form of duties like motor vehicle taxes, are called:- ) -u”.fff u‘fd/ ‘}/’w‘ 2l (12)
(A) Indirect tax ” “,-1¥\ (B) Direct tax u; “alnl; (C) Property tax v’f 'l (D) Income tax ﬁ/

(13) The tax in addition to the price of the article is called: - -Jif,’guu s (/J (13)
(A) Tax JE (B) Sales tax U £ 3 C) Income tax JC Hi (D) Excise duty d:_’:/l,fr

(14) In4°, 4is called:- Y-8 A & LYY
(A) Base V| (B) Exponent e s (C) An integer m(‘; (D) Radical i

(15) Thirdtermof a, = n + 3 is- eldiS a,=n+3 (15
(A) 3 (B) 9 (C) 6 (D) 0

33(0bj)( 3 7)-2018(A)-10000  (MULTAN)




PAPER CODE 2018 (A) /3 do Ay

NUMBER' 1265 SSC PART-l (9th CLASS)

GENERAL MATHEMATIC.S GROUP-I " - 75// ¢ E/dﬁ

TIME ALLOWED: 20 Minutes OBJECTIVE u:”s/‘,a? 20 = 2y

MAXIMUM MARKS: 15 15= Af
Fe i b s Gl in e Uithel dsi v v 36312 s D st € B A ezl vy <id

L34 _fé_igk}vf'it}&;’:ﬂ.;‘w:‘dfé_/":x: f:,,‘,-}f: ufx;r‘jw___,lﬂe;ﬂbﬁaxr‘dd.fq Jo¥ L é..f.{!u,}m,-pa..g <33
Note: You have four choices for each objective type question as A, B, C and D. The choice -u_'/fsd"?::..:a Uty
which you think is correct, fill that bulible in front of that question number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 -1 Av

(1) The company undertaking act of Insurance is called:- -f_dﬂsf ‘deZu’J' i—uff fiu-‘ (1)
(A) Insurance u"';’” (B) Insured 3,8 (C) Insurer 3 (D) Insurance policy ~LJ;HI

(2) Taxes of the form of duties like motor vehicle taxes, are called:- ..u*qffJgu‘fd/ J"Zs/r (2)
(A) Indirect tax JG “2-1¥| (B) Direct tax Jg “e~inl; (C) Property tax u;;um D) Income tax Lfg,f!

(3) The tax in addition to the price of the article is called:- -u*éfu’g oLt i S B
(A) Tax f (B) Sales tax f)’ (C) Income tax ujfi (D) Excise duty dml.fi

(4) 45 4iscalled- GES 4 9
(A) Base i (B) Exponent Ve (C) An integer wg (D) Radical :u;g

(5) Thirdtermof 4, = n + 3 is- < fAS a,=n+3  (5)
(A) 3 (B) © (C) 6 (D) 0

(6) AM between 65 and 25 is-- bt 25 w65 (6)
(A) 345 (B) 9+/5 (C) 745 (D) 445

) (4NB) =2 (4nB) =7 (7)

(A) 4°NB° (B) (4UB)* (€) 4“UB (0) ¢

(8) For =2 in 2x—y =6 then x =? =0 ediy=2 £ 2x-—y=6 (8
(A) -4 (B) 4 () 2 D) -2

(9) The middle value of the data arranged in numerical order is called:- -g.gwﬁdmub?w!r.;;?o’( (9)
(A) Mode sk (B) Mean Ll (C) Geometric Mean ss(/# (D) Median k-

(10) 20 % of 600 is:- -« 20% ¥ 600 (10)
(A) 12 (B) 120 (C) 20 (D) 200

(1) Lowest form of 75: 95 is:- By 75:95 (1)
(A) 15:17 (B) 1715 (C)19:.15 (D) 15:19

(12) Zakat deducted on an amount of Rs.1,00,000 is:- _LJ;u’ § il 100000  (12)
(A) Rs.2500 (B) Rs.25000 (C) Rs.2000 (D) Rs.15000

(13) On a crop produced on Natural resources, Ushr is deducted at the rate of:- -.:..U/J//J" fJ../K:..db i (13)
(A) 25% (B) 5% (C) 10% (D) 20 %

(14) Loss is there when:- -1/(}{—":34{:)@' (14)
(A) SP = CP (B)S.P < C.P (A) edsped = 4ied  (B)edjed < giud
(C) SP>CP (D)S.P= MP (C)edrjed > piad (D) ehrfed = 2dbupes

(15) An instrument for payment order issued by abank ~ -f & | cﬁy/d;&_»{ulﬁ:d’u‘f Vo b2en KU AL (15)
on the request of its customer is called:- §
(A) Pay order /3,7 (B) Cheque Book =z (C) Deposit slip Q—Ja.u/’ ¢ (D) Current account w31/

33(0bj)( W W I )-2018(A)-10000  (MULTAN)




PAPER CODE 2018 (A) 29] A

/ T4
NUMBER' 1267 SSC PART-l (9th CLASS)
GENERAL MATHEMATICS GROUP-| o) S
TIME ALLOWED: 20 Minutes OBJECTIVE (.o 20 =
MAXIMUM MARKS: 15 15= Af
S L SAB ISl iR s s Cene vl g 612 - s D st © B A 2zl Ll Jivy L

(=24 tﬁ..lpL;;,f"-’d/ i8S 4 JU gy _b’er"W?!J’.uﬁuﬁf&d’JLf(f: Juk LS usiimie L Ly
Note: You have four choices for each bjective type question as A, B, C and D. The choice -V:)EJ’JJ:;_-, Uty
which you think is correct, fill that bukble in front of that question number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling tw> or more bubbles will result in zero mark in that question. Attempt as
many questions as given in objective type guestion paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 A ANy
(1) Loss is there when:- -:)’E.T_.bﬂul.a'ﬁ (1)
(A) SP= CP (B)S.P < CP (A) edijed = 4ied  (B)edjed <sied

(C) SP>CP (D)S.P= M.P (C)edifed > giud (D) esfed = odmes

(2) Aninstrument for payment order issued by a bank -ugn“,;(;:.i | LSJLg{:/l}uJ._‘f b L2em i, }’J_ﬁ; (2)
on the request of its customer is cailed:-
(A) Pay order /EJT.J;., (B) Cheque Book -z (C) Deposit slip .J»Ja._hf v} ( (D) Current account 7§12/

(3) The company undertaking act of Insurance is called:- -:_dll/ f.»_dwﬁ ':Uf LJJH'?J{ (3)
(A) Insurance J#  (B) Insured L (C) Insurer . (D) Insurance policy | -LJM

(4) Taxes of the form of duties like motor vehicle taxes, are called:- -u‘c:‘_:( u' F J{’M‘ (4)
(A) Indirect tax g_,’gL ¥l (B) Direct tax (/“=~liiz (C) Property tax JG ¥ (D) Income tax JC el

(5) The tax in addition to the price of the article is called:- -u' q’ffuf dh'd' =6z 4 (5)
(A) Tax JL (B) Sales tax JC 1 (C) Income tax u‘gﬁ’i (D) Excise duty d;';/Lfl

(6) In4® 4is called:- gE a8 ()
(A) Base i (B) Exponent lie? (C) An integer w(‘; (D) Radical “ij'

(7) Thirdtermof a, = n + 3 is:- A4S a,=ne3 ()
(A) 3 (B) 9 (C) 6 (D) 0

(8) AMbetween 65 and 245 is:- bl 25 #6S5 ()
A) 35 B) 95 ©) 75 (D) 445

) (4NB) =2 (4nNB) =2 (9

(A) 4°NB" () (4UB)" (C) 4“UB" (D) ¢

(10) For y=2 in 2x—y =6 then x =2 x=2ediy=2 & 2x-p=6 (10
(A) —4 (B) 4 (C) 2 ) -

(11) The middle value of the data arranged in numerical order is called:- _‘;.Jﬂ:(ofdmﬁufﬂﬂ,-"/“‘df (1)
(A) Mode sk (B) Mean Lk (C) Geometric Mean ks~ (D) Median -3

(12) 20% of 600 is- < 20% ¥600 (12)
(A) 12 (B) 120 (C) 20 (D) 200

(13) Lowest formof 75: 95 is:- -.‘»_.fuj}uhfﬁf 75:95  (13)
(A) 15:17 (B) 17: 15 (C)19:15 (D) 15: 19

(14) Zakat deducted on an amount of Rs.1,00,000 is:- -Q.J}"J Fﬁ{dg‘.u 1,00,000 (14)
(A) Rs.2500 (B) Rs.25000 (C) Rs.2000 (D) Rs.15000 _

(15) On a crop produced on Natural resources, Ushr is deducted at the rate of:- -9{,}&}’4‘)" G’U.-:}Kr_éujj;ﬁ (15)
(A) 2.5% (B) 5% (C) 10% (D) 20 %
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PAPER CODE 2018 (A) 7}7(03/ A

NUMBER: 1262 SSC PART-l (9th CLASS)

GENERAL MATHEMATICS GROUP-I o < on) Sl

TIME ALLOWED: 20 Minutes OBJECTIVE u"}/,-e? 2220 =

MAXIMUM MARKS: 15 6= Af
Ao | AhnseJbl ipe e 2 st dsie vl Jivp Q6312 - 2L 5 D il C B A bl iy WY

124Ul -KL_EEJV’}‘J:L”:/JHJ;./:,; JJ:)J/’L- -ﬁf}ﬁwvfﬁuﬂuﬁ&)ﬂgﬂf_/ﬁ Jo¥ L L./‘::J:J:}!.sa:yjaﬁ..g e
Note: You have four choices for each objective type question as A, B, C and D. The choice _U:/C:J"}fm,uir
which you think is correct, fill that bubble in front of that question number, On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 ..1 Ay
(1) —;—0 in terms of percentage is:- <ien F rﬂd o (1)
(A) 35% (B) 70 % (C) 40 % (D) 20 %
(2) Inaratio a:h , p iscalled:- -uj%fr(b Uoazh = (2)
(A) Extreme dw (B) Antecedent .ﬁxf..iJJI*r (C) Mean s (D) Consequent 11 )
(3) Zakatis deducted at the rate of- <UAEGN @)
(A) 25% (B) 3.5% (C) 4.5% D)5.5%
(4) On a crop produced with artificial resources Ushr is deducted -c,_-J;f b;d%;f Uﬁi—f KC-C;U}JJ*"" (4)
attherate of- (A)5% (B) 10% (C)2.5% (D) 25 %
(5) CP=?% ¢ zfed ()
100 x SP (B) Loss - SP (A) 100 x wsz..‘w’ (B) esjed - ol
(100 + profit percentage) (100+ 4248
(C) MP + Discount o M00xdsoount oy e o (D) LA
MP JC;}/J
(6) The periodic instalments to be paid by the insured is called:- -J*qi’iw!f 0 bla,.»s.d;c...;}'f L (6)
(A) Bonus gﬂ.f.' (B) Discount <#9€-3  (C) Premium /{/ (D) Mark up i f
(7) A machine installed by the bank to dispense cash to customer uadllvv :LJ/ lﬂ:(..f ?fmff a o (7)
is called:-  (A) Computer /’/ (B) Scanner /’C (C)ATM i d <! (D) Card reader 454
(8) The tax charged on all the taxable income is called:- -:..t‘U/ tc.Lbub’j/J,« !u’-CJ b Wu 3 (8)
(A) Sales tax U’@’" (B) Direct tax Jg ~arlnl;  (C) Income tax f (‘/ D) Excise duty dmun )
(9) The tax in additon to the price of an article is called:- | I Qi ted S (9)
(A) Tax JE (B) Sales tax u/ /L’ (C) Income tax Jgfl (D) Excise duty Jgi:ﬂ.ﬁ:f
10) In /3 , 3iscalled:- ; -Uf:d,!( 3 4 (10)
(A) Radical & (B) Radicand s (C) Integer mé (D) Natural number w:};ﬁ
(M) ___is a in3, 7, 11— s et 8 T 1 e (1)
(A) 3 (B) 19 (C) 23 (D) 20
(12) GMin 1 and 8 is:- b Al 81 (12)
) 242 (B) +242 (C) =22 D) V2
(13) If A—M}and U=1{1,2,3,4}then 4 =7 A€ =9 3 U—{12’34} Ad={4} S (13
A {1,2,3} (B) ¢ (C) {1} {123,4}
(14) By putting x=1in 2x+y=6 then y=7? j= 9 P J 2x+y=6 (14)
(A) —4 (B) -8 (C) 4 (D)8 )
(15) The score which occurs most often in a set of data is called:- -q..JLbH/ c:’..i',;/upa.u/ufﬂf‘f ﬁc«‘fv (15)
(A) Mode n (B) Mean L (C) Median -3 (D) Geometric mean L} 2
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PAPER CODE 2018 (A) 202 A
v

NUMBER: 1264 SSC PART-| (9th CLASS)
GENERAL MATHEMATICS GROUP-I PRSI W)
TIME ALLOWED: 20 Mintes OBJECTIVE (& 20 = &

{..g{.,)-'fvrl 1ol bt:f/dfu";__u‘;;d_f .{)uh fn;ﬂ.hk._.,b’u!;u‘._ur’d._./_q JoK L 4_/',;_#1}3/! uLJ:.»_f &
Note: You have four choices for each objective type question as A, B, C and D. The choice _u_):d")"umr
which you think is correct, fill that bubble in front of that question number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded

in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay
(1) GMin 1 and 8 is:- b Pl 841 (1)
A) 242 (B) +2v2 (C) —2v2 (D) v2
() Fa={4}andy ={1,2,34} then4 =2 A°=70U={1,2,3,4)} 4 4={4}Y /1 @
(A {1, 2,3 } (B) ¢ (€ {1} D) {1,234}
(3) Byputtingx=11in 2x + y =6 then y =7 y=72 c.éxx:lu': 2x+y=6 (3)
(A) —4 (B) -8 (C)4 (D)8
(4) The score which occurs most often in a set of data is called:- -{-&Uf’/ ‘E.f’g”/a:kia.u,-’u:ﬂ:’g;?p{:" ) (4)
(A) Mode »b (B) Mean Ll (C) Median .:k-s (D) Geometric mean bi(} #
7 ‘ ’ vo o T
(5) — in terms of percentage is:- -:‘ajfufﬂd 20 (5)
(A) 35% (B) 70% (C) 40 % (D) 20 %
(6) Inaratio a:b b iscalled- G bt ah el (6)
(A) Extreme JL;! (B) Antecedent &} ui; C) Mean @i (D) Consequent ...m(f ¥
(7) Zakatis deducted at the rate of:- LUHWGS o
(A) 2.5% (B) 3.5% (C) 4.5% D)55%
(8) On a crop produced with artificial resources Ushr is deducted _Q.J?’E,}Jﬁ/‘:u“}&{f&l{;émfi” (8)
at the rate of:- (A)5 % (B) 10 % (C)2.5% (D) 25 %
(9) CP=? ¢ =4ied(9)
GO (B) Loss - SP () 10X AL gy s hed - S
(100 + profit percentage) (100+ #38)
(C) MP + Discount D) MWL, oy mppas i p) T0REA
MP ...«’CJJ/-.-?
(10) The periodic ins‘talments to be paid by the insured is called:- -u‘;f;@ufuﬁ/blc:.,w.w;.u)& (10)
(A) Bonus (/¥ (B) Discount K-35 (C) Premium (% (D) Mark up A
(11) A machine installed by the bank to dispense cash to customer -c:.ull*'( . Jﬁ;ru b"ﬁiﬁ?f fdb’juf\.@. (11)
s called:-  (A) Computer /'r"( (B) Scanner H’/ C)ATM AL u‘...' (D) Card reader si.56
(12) The tax charged on all the taxable income is cal]ed _.»-_L"M rc;tbl.éﬁ/u,;ru’v JL"(VJ’JHM (12)
(A) Sales tax f 7 (B) Direct tax Jc‘ “a~lnlz  (C) Income tax v; H” (D) Excise duty dﬁ:/ul
(13) Thetaxin additon to the price of an article is called:- _ -ujqfff T [P0 U/:?,U/ (13)
(A) Tax J* (B) Salestax ¥ (C) Income tax U (D) Exciseduty (g3
(14) In V3 , 3is called:- B SES 3 B (8
(A) Radical i (B) Radicand .1 (C) Integer wé’ (D) Natural number m[!;ﬁ
(18) __is @, in3, 7, M eeceemm e 4§ 37 M (1)
(A) 3 (B) 19 (C) 23 (D) 20
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PAPER CODE 2018 (A) By A

NUMBER: 1266 SSC PART-l (9th CLASS)

GENERAL MATHEMATICS GROUP-II - d Sl

TIME ALLOWED: 20 Minutes OBJECTIVE g}/ﬁ @220 = &

MAXIMUM MARKS: 15 15= AF
A G\ S I B AL it e o NI i D 37 L s D Al C B AN Ly 2

{24~ agLL?EJV{HL;fLﬁ.‘;JﬂL}/L,&ﬁ’: }63?1) _gﬁxr‘”ﬂhiﬁ.,afﬁu!jhﬂwu"'\;i_/z Jok L LIJU:?DML.F;..? Ly
Note: You have four choices for each objective type question as A, B, C and D. The choice --\,:/C;J’)}.:. Uiy
which you think is correct, fill that bubble in front of that question number. On bubble sheet, use marker or pen
to fill the bubbles, Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded

in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 A A
(1) A machine installed by the bank to dispense cash to customer _.e.ijlk'r :q.&ﬁ;if.‘( ¢l Seee )
is called:-  (A) Computer ),:-;f (B) Scanner ﬁ.: (C) ATM _ﬁl-:}-u (D) Card reader ks3/8
(2) The tax charged on all the taxable income is called:- _‘awf srﬁ'.l?ﬂ@/,__&ﬁ;fgdﬁ'rﬁﬁdas (2)
(A) Sales tax ;_f?JE-’ (B) Direct tax u’gn.‘:.-";af/. (C) Income tax Jgﬁ/i (D) Excise duty Jgi'f’lffl
(3) The tax in additon to the price of an article is called:- B - 5{!( “eitedday ' (3)
(A) Tax u,? (B) Sales tax Jgﬁ’ (C) Income tax .f*?/! (D) Excise duty Jgif'«f'
(4) In J3 . 3iscalled:- -8 I (4)
(A) Radical .4 (B) Radicand % (C) Integer wc"ff (D) Natural number w{:‘u;’
(6) ___is @ in3, 7, 11 =meemmm e ag 37, M (5)
(A) 3 (B) 19 (C) 23 (D) 20
(6) GMin 1 and 8 is:- ek el 81 (B)
(A) 242 (B) +2+/2 (C) —2+2 D) V2
(7) FA=14} and U ={1,2,3,4 }then 4€ =2 A€ =2U={1,2,3,4} 4 4={4} J
(A) {1,2,3 } (B) ¢ ) {1} D){1,2,3,4 }
(8) By putting x =11in 2x + y =6then y =7 3 =7 st x=14, 2x+y=6 (8)
(A) —4 (B) -8 (C)4 (D)8 )
(9) The score which occurs most often in a set of data is called:- -c,f}!kf ‘Lf,:'/a;g;c.,/urf.)rri i..uj 24 9)
(A) Mode ok (B) Mean kel (C) Median .- (D) Geometric mean bl #
(10) 20 in terms of percentage is:- ﬁ:guﬁf&f& —2% (10)
(A) 35% (B) 70 % (C) 40 % (D) 20 %
(11) Inaratio a:b, b iscalled- -u_?f,'f!(b Veoah e (1)
(A) Extreme JL;«'" (B) Antecedent .:,'f.igfg,"-l (C) Mean yln (D) Consequent &fu’ §
(12) Zakat is deducted at the rate of - _{_C;J d}%}ﬁ (12)
(A) 2.5 % (B) 3.5% (C) 4.5% (D)55%
(13) On a crop produced with artificial resources Ushr is deducted > J?/Z/;’J "4«.)& Wb lusg  (19)
attherateof- (A)5%  (B) 10% (C)2.5% (D) 25 %
(14) CP=7? ¢ =il (14)
(A) g el (B) Loss - SP (A) 100 x: ey e (B) edsfed - ol
(100 + profit percentage) (100+ w»00)
(C) MP + Discount Oy RGO i aaf (i DRE2E
MP o ol gl
(15) The periodic instalments to be paid by the insured is called:- -u;’ff,i/:@lﬁigjf d/IJJ;,ﬁsﬁ);J}’J P (15)
(A) Bonus (/¥ (B) Discount =#4€-5  (C) Premium (% (D) Mark up Sk
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PAPER CODE 2018 (A) 9 il

NUMBER: 1268 SSC PART-l (9th CLASS)

GENERAL MATHEMATICS GROUP-II Loy < ...«:// U‘” LJJ 7
TIME ALLOWED: 20 Minutes OBJECTIVE M 20 = =y
Nt At e I g

L2 L) _ac..q’::._,-.‘_/fdfﬁa.;:‘dé_/’::f, YU _(;my"jdéx,,f:?u:’jiuf:.-:ﬂdfi_/:i Sk L .i_/j/::':).-}r;ugja."_..g a2
Note: You have four choices for each objective type question as A, B, C and D. The choice _V:/'::d’)';@ Uls~
which you think is correct, fill that bubble in front of that guestion number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded

in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 _ A Ay
(1) On a crop produced with artificial resources Ushr is deducted c.dv” /‘J o “?’uz;(ai{:.tfbinfi"‘ (1)
attherateof- (A)5%  (B) 10% (C)2.5% (D) 25 %
(2) CP=? ¢z 4fed (2
] et L] (B) Loss - SP ) 10X el g s hed -
(100 + profit percentage) 100+ #00)
(C) MP + Discount oy JOOxdsomnt e e b oy J00ESA
MP ..J’L.u/...«"
(3) The periodic instg!ments to be paid by the insured is called:- s @L‘lu{f l:i.:.,dw:c,_))’d} i (3)
(A) Bonus Vg, (B) Discount #3635 (C) Premium ﬁx (D) Mark up ...,JL
(4) A machine installed by the bank to dispense cash to customer -r_dl}f sc;_df fid [ ff»wuf’f Jhiks ()
is called:-  (A) Computer ;J (B) Scanner P*f C)ATM (il d__ (D) Card reader sk/i/8
(5) The tax charged on all the taxable income is ca[led- _:.;Lh rat’bkiﬁm I bewﬁ, (9)
(A) Sales tax Jﬁ 4 (B) Direct tax ,_f’ *enlz (C) Income tax 'L?{ D) Excise duty u»fuLf !
(6) The tax in additon to the price of an article is called:- U ri/ff JL*’U' = Lf/.fr (6)
(A) Tax * (B) Sales tax L,’C )’ (C) Income tax £ I (D) Excise duty d;_u/lfl
(7) In 3 , 3is called:- ; S 3 v A3 (7)
(A) Radical i (B) Radicand . (C) Integer w#( (D) Natural number (.4
(8) _ is @ inB3, 7, 11 weeeeeme, IR | e (8)
(A) 3 (B) 19 (C) 23 (D) 20
(9) GMin 1 and 8 is:- b Al 81 (9)
A) 242 (B) £2V2 (€) -2+2 ©) V2
(10) lfA {4} and U={1,2,34 }then 4 = AC=2%u={1,234}m4a={4} S (10
(A) §1.2,3 } (8) ¢ (©) {1} (0) {1234 }
(11) By putting x =1in 2x+ y =6 then y=7? =72 =& x=1 2x+y=6 (1)
(A) —4 (B) -8 (C)4 (D)8
(12) The score which occurs most often in a set of data is called:- -.;.&ng’/ cé_T.'.:'/npa,_‘.-/uf;Jr‘u’ ;.'&Ew (12)
(A) Mode sk (B) Mean -l (C) Median .:t-s (D) Geometric mean kI)
(13) 5 in terms of percentage is:- -'{—u’f K’wﬂ\) ;—0 (13)
(A) 35% (B) 70 % (C) 40% (D) 20 %
(14) Inaraio a:b, b iscalled: g b S oah e (14
(A) Extreme (51 (B) Antecedent w35 (C) Mean @less (D) Consequent &fgf' ¥
(15) Zakatis deducted at the rate of- -‘46/"’0{&;@/’5?/} (15)
(A) 2.5% (B) 3.5% (C) 4.5 % (D) 5.5 %
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